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BIB K& PR D NbAE[DDE@R|B B FiTE|sk & K
37 LS R BEXZF 1 6 5 4 3 2
38 RN BEABERZE 2 1 6 5 4 3
1 | 39 RE BE 1Bk 57 3 2 1 6 5 4
#8 | 40 AR ME Va2 v RR—VitiEE 4 3 2 1 6 5
41 B8 K& IBR 2K 5 4 3 2 1 6
42 /AR —K N 6 5 4 3 2 1
43 W JTK & gymnastics team 2 1 6 5 4 3
44 B K Va2 v RR—VitiEE 3 2 1 6 5 4
2 | 45 | GR&ER LuUE2 4 3 2 1 6 5
| 46 B XH MR ST 5 4 3 2 1 6
47 B2 H%KY¥E Y2 Y RR=VitiEE 6 5 4 3 2 1
48 B thiE PRBRFERZER 1 6 5 4 3 2
49 B EE LB XRE 3 2 1 6 5 4
50 BK HKE IBERZKZ 4 3 2 1 6 5
3 | 51 #88 B BAXE 5 4 3 2 1 6
| 52 | &Kk EiE 6 5 4 3 2 1
53 oA &S IBR 2K 1 6 5 4 3 2
1 54 N —2& BAKERZE 2 1 6 5 4 3
Ui 55 =M KE BAXE 4 3 2 1 6 5
56 BU Kig KIEHITIRITOKBIKIREY 57 5 4 3 2 1 6
4| 57 N0 t§R EpEAR 6 5 4 3 2 1
| 58 BH EN BEFERO 57 1 6 5 4 3 2
59 Ak st BERERES BUR hIL—T 2 1 6 5 4 3
60 T Rig BRESEER 3 2 1 6 5 4
61 $KEF m2Bh BAFEEKRE 5 4 3 2 1 6
62 KR HAER FRAR 6 5 4 3 2 1
5 | 63 80 8 BAREKERE 1 6 5 4 3 2
| 64 FB EX BARFEEKRE 2 1 6 5 4 3
65 B K LA g0 57 3 2 1 6 5 4
66 AKAR EXEB RERIE 0 LRSS 4 3 2 1 6 5
67 HEEE EpEA 6 5 4 3 2 1
68 e NE=p N: BEAEKRZE 1 6 5 4 3 2
6 | 69 A s FEAR 2 1 6 5 4 3
# | 70 RIB 188 YN 3 2 1 6 5 4
71 WA 1&46 22057 4 3 2 1 6 5
72 oIl FE Y1y AR—ViEE 5 4 3 2 1 6
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BIB K& PhiEd D DDAB|DVDER|BE | E1TE|EX & K
73 =0 R} [EPNENE 1
74 7)1 5B HWRY RTI—T 2
7| 75 BwARARE IBREXRZ 3
M| 76 Bz RX eI AR S EER 4
77 e IARRR=VOS5T 5
78 TR B IBREXRF 6
79 D)l BF EPREEEKRS 1
80 TR Z BEAERE 2
7 | 81 Sl X X 3
| a2 BE LE PRU—r05T 4
83 RIF BA Y2 Y RR=VitiEE 5
84 EIIIRIEPN sxE 6
85 WFA ARARB Y2y RR—VitiEE 1
86 B &K TEKE 2
7|87 RS KA BAGKERZ 3
| 88 KB Bk BAKBEAE 4
89 B & BfgEXZ 5
1 90 Bis —X BNERD 5T 6
U1 91 BAR KE BAKXE 1
92 =R 883t BREXKZOST 2
7 | 93 Bl EA BAGEEKRE 3
| o4 JIiE A% il N 4
95 PR &R H—rLRR—YOST 5
o6 ISR & lEXRE 6
o7 (LB Eeb% BREEERS 1
o8 % B BE SRS 2
7|74 A rE HVWRY KTIL—TF 3
| 99 RE Rt FERE 4
81 SH K X 5
100 i Ffe IBREXRZF 6
74 A aE HVWRY NTIL—TF 1
101 =15 RE BT IAE S ERER 2
7 | 102 8 s BAFEAZ 3
| 81 Sl X esxE 4
103 A xR FHRRRE 5
104 ik R hBERE 6
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BIB K& PR D NBAE[DDE|M B|FTE|% &
1 RN RSk B XRE 1 6 5 4 3 2
2 ALY kB MBI AMES S 2 1 6 5 4 3
11 3 AS Al BT IIAME S S 3 2 1 6 5 4
) 4 ING D BRSSP 4 3 2 1 6 5
5 A0 #B IBR 2K 5 4 3 2 1 6
6 B 588 BpiEigo > 6 5 4 3 2 1
7 A &2 8h MRy ST 2 1 6 5 4 3
8 A Z=fK EEREIRO ST 3 2 1 6 5 4
2| 9 N ENsERo>7 4 3 2 1 6 5
| 10 SNk Y hSILRR— 5 4 3 2 1 6
11 1% 5% 220357 6 5 4 3 2 1
12 6B MR o 57 1 6 5 4 3 2
13 homE B3 JFZR— 3 2 1 6 5 4
14 FE @K Y hSILRR— 4 3 2 1 6 5
3|15 B F0E Y RSILRR—Y 5 4 3 2 1 6
|16 0B B Bifikigo>7 6 5 4 3 2 1
17 2 R BEAERE 1 6 5 4 3 2
2 18 BB 8% TMRERO ST 2 1 6 5 4 3
U1 19 T B Y hSILRR—Y 4 3 2 1 6 5
20 =R BY¥ Y RhSILRR— 5 4 3 2 1 6
4 | 21 B H— BaFEgo >7 6 5 4 3 2 1
| 22 TP LY RSILRR—Y 1 6 5 4 3 2
23 A EEst 1Bk 57 2 1 6 5 4 3
24 B30 +—AB ABrEE 3 2 1 6 5 4
25 Bk X2 BRSEFR & 5 4 3 2 1 6
26 BN RK BEABAZE 6 5 4 3 2 1
5|27 Nt #BF MRS ST 1 6 5 4 3 2
| 28 Ll BERER MR ST 2 1 6 5 4 3
29 BUS fFX TRKE 3 2 1 6 5 4
30 TR & Btk >7 4 3 2 1 6 5
31 TS KERIFE K 6 5 4 3 2 1
32 A i Y RSILRIR— 1 6 5 4 3 2
6 | 33 et R ARRDO—BEYST 2 1 6 5 4 3
| 34 B R MR ST 3 2 1 6 5 4
35 SN [EFSpNEa 4 3 2 1 6 5
36 & BN B RO 57 5 4 3 2 1 6

BB BEEERZERILARKDOED
BREOXNE, FidIUBEHECKIDBAMRELBDIENZF LEVE




BT7OOBFERBARSRFE BFFR

2025.03.121R7%

o nloas|onms Blwaeln &l we
£10-—5—Y3Y | 148 | 248 | 348 | 4% | 54 | 648 | 74
BoO0-F-y3Y | 74 | 148 | 248 | 3% | 448 | 54 | 64
£30->-Y3Y | 6% | 74 | 148 | 24 | 348 | 44 | 54

;E HA0-5—v3Y | G4 | 6% | T4 | 148 | 24 | 34 | 44
B50-7—Y3Y | 44 | 54 | 648 | 74 | 148 | 248 | 34
B60—>-Y3Y | 34 | 448 | 54 | 64 | 748 | 148 | 24
B70->-Y3Y | 2% | 34 | 44 | 5% | 64 | 74 | 14

0 »|Bas|onmls Blmana
$£10->-Y3Y | 148 | 248 | 34 | 4% | 5% | 64
LoO0-5-Y3Y | 64 | 148 | 248 | 34 | 448 | 54

o | ®30-5-v3v | |em| 14| 2@ | a8 | 418

M | 40->-v3v | 4% | 548 | 648 | 140 | 24 | 348
B50->-Y3Y | 34 | 448 | 54 | 6% | 14 | 248
£60-7—Y3Y | 24 | 348 | 448 | 54 | 64 | 148




